



THE 2024 BRUNELLO ADVANTAGE CARD

A NON-TRADITIONAL GOLF MEMBERSHIP WITH FLEXIBILITY TO FIT YOUR LIFESTYLE

Located 15 minutes from downtown Halifax 3 minutes past Bayers Lake

any of the great courses in Canada and around the world have been designed by the legendary Tom McBroom. Tom McBroom's award-winning designs are characterized by great beauty and sensitive integration with the landscape. And that's exactly the style of The Links at Brunello.

Memorable views have been maintained and challenging topography has been transformed into spectacular fairways. So much that The Links at Brunello was voted the 3rd Best New Golf Course in North America by *Golf Digest* for 2015. The Top 123 Golf Courses in Canada by *SCOREGolf* 2020. Top 25 Golf Course in Canada by *Golf Digest* 2018 & Top 59 Public Courses in Canada by *SCOREGolf* in 2019, 2021 & 2023.

Our 5300 sq ft clubhouse features an indoor dining area, bar, boardroom and golf simulator.

We are committed to the golfing community, and as you make plans for the upcoming season, we are pleased to offer you, the 2024 Brunello Advantage Card.



A WORLD-CLASS GOLF EXPERIENCE RIGHT AT YOUR DOORSTEP

2024 GREEN FEES:	Opening - May 24	May 25 - Sept. 22	Sept. 23 - Closing
Non-Resident (before 1:00 pm)	\$135	\$175	\$135
Non-Resident (after 1:00 pm)	\$115	\$155	\$115
Nova Scotia Resident (before 1:00 pm)	\$110	\$160	\$110
Nova Scotia Resident (after 1:00 pm)	\$105	\$150	\$105
Brunello Resident (before 1:00 pm)	\$ 95	\$109	\$ 95
Brunello Resident (after 1:00 pm)	\$ 90	\$ 99	\$ 90

RATES INCLUDE:

18 hole greenfee, GPS power cart, practice facility, HST applicable.

Nova Scotia Rates require presentation of a Nova Scotia Drivers Licence.

TWOSOME & THREESOME EXCLUSIVE PLAY!

Green fee and non-flex card players can now elect to keep your twosome or threesome private, preventing your group from being paired up with others for the duration of your game. The person booking the tee time must advise the golf shop or if reserving online, must indicate under the players' names "exclusive player".

From opening to May 31, 2024, and from September 9, 2024 to closing – For all non-flex card holders prior to 1:00 pm the group may pay the balance of the space at 50% of either the Advantage Card rate or greenfee rate if not a card holder. After 1:00 pm there is no additional fee.

From June 1, 2024 to September 8, 2024 — For all non-flex card holders prior to 1:00 pm the group may pay the balance of the space at 75% of either the Advantage Card rate or greenfee rate if not a card holder. After 1:00 pm you may pay the balance at 50% of either the Advantage Card rate or greenfee rate if not a card holder.

THE HIGHLIGHTS OF THE CARD CONSIST OF:

PREFERRED GOLF RATES - Significant discounts per round on the posted rack rate.

FULLY TRANSFERABLE – Cards are fully transferable, share your Advantage Card with business associates, friends, and family without any restrictions.

ADVANCED TEE TIME BOOKINGS – Reserve your golf up to four weeks in advance for non-flex cards, and up to three weeks in advance for flex cards.

FLEXIBILITY – Play by the hole or full round.

2024 ADVANTAGE CARDHOLDER RATES

2024 FULL WEEK ADVANTAGE CARD:

7-Day Playing

	Price	Rounds	Transferable	Extra Rounds
Super Platinum Plus	\$4,600	50	100%	\$ 92.00
Super Platinum	\$3,840	40	100%	\$ 96.00
Platinum	\$2,970	30	100%	\$ 99.00
Gold	\$2,120	20	100%	\$106.00
Silver*	\$1,160	10	100%	\$116.00
Bronze*	\$ 615	5	100%	\$123.00

2024 MIDWEEK ADVANTAGE CARD:

5-Day Playing — Monday-Friday (Excludes Holidays)

	Price	Rounds	Transferable	Extra Rounds
Super Platinum Plus	\$3,600	50	100%	\$72.00
Super Platinum	\$3,040	40	100%	\$76.00
Platinum	\$2,400	30	100%	\$80.00
Gold	\$1,700	20	100%	\$85.00
Silver*	\$ 900	10	100%	\$90.00

2024 MIDWEEK PLUS ADVANTAGE CARD:

5-Day Playing — Monday-Friday + 18 Holes only Sat-Sun & Holidays after 2:00 pm

	Price	Rounds	Transferable	Extra Rounds
Super Platinum Plus	\$3,850	50	100%	\$ 77.00
Super Platinum	\$3,200	40	100%	\$ 80.00
Platinum	\$2,550	30	100%	\$ 85.00
Gold	\$1,800	20	100%	\$ 90.00
Silver*	\$ 940	10	100%	\$ 94.00
Bronze*	\$ 500	5	100%	\$100.00

^{*} Available only for Nova Scotia Residents

2024 FULL WEEK FLEX ADVANTAGE CARD:

May be used from opening - May 31 | September 9 - Closing - play anytime! June 1 to September 8 - play before 8:00 am or after 1:00 pm

	Price	Rounds	Transferable	Extra Rounds
Platinum	\$2,280	30	100%	\$76.00
Gold	\$1,640	20	100%	\$82.00
Silver*	\$ 860	10	100%	\$86.00

2024 ADVANTAGE CARDHOLDER RATES CONT'D

2024 MIDWEEK FLEX ADVANTAGE CARD:

5-Day Playing Monday-Friday (Excludes Holidays)

May be used from opening - May 31 | September 9 - Closing - play anytime! June 1 to September 8 - play before 8:00 am and after 1:00 pm

	Price	Rounds	Transferable	Extra Rounds
Platinum	\$1,980	30	100%	\$66.00
Gold	\$1,420	20	100%	\$71.00
Silver*	\$ 735	10	100%	\$76.00

2024 FULL WEEK RESIDENT ADVANTAGE CARD:

7-Day Playing			
	Price	Rounds	Extra Rounds
Super Platinum Plus	\$3,300	50	\$66.00
Super Platinum	\$2,840	40	\$71.00
Platinum	\$2,280	30	\$76.00
Gold	\$1,620	20	\$81.00
Silver	\$ 940	10	\$86.00
Bronze	\$ 520	5	\$96.00

Use of resident card must include at least one member of a resident household and rounds may not be transferred for cash or other consideration.

Try before you buy!

When you've played at the Links at Brunello via greenfee, you can redeem the cost of the greenfee towards the purchase of an Advantage Card of any level. This applies to a maximum of two greenfee rounds, and may include the cost of greenfees for your entire foursome.

2024 FULL WEEK RESIDENT FLEX ADVANTAGE CARD:

May be used from opening - May 31 | September 9 - Closing – play anytime! June 1 to September 8 - play before 8:00 am or after 1:00 pm

	Price	Rounds	Extra Rounds
Super Platinum Plus	\$3,050	50	\$61.00
Super Platinum	\$2,640	40	\$66.00
Platinum	\$2,130	30	\$71.00
Gold	\$1,520	20	\$76.00
Silver*	\$ 810	10	\$81.00
Bronze*	\$ 455	5	\$91.00

Use of Resident Card must include at least one member of a resident household & rounds may not be transferred for cash or other consideration.

THE BENEFITS OF THE BRUNELLO ADVANTAGE CARD

ADVANCE RESERVATIONS: Tee times can be reserved up to 4 weeks in advance for all non-flex cards and 3 weeks in advance for all flex cards. Tee-times cancelled within 7 days will be non-refundable unless filled by someone else. Full payment will be applied 7 days out, or at time of booking if within 7 days. Once the number of rounds has been used, payment will be by credit card on added rounds. Only one tee time per day may be scheduled. More than one tee time per day may be permitted subject to availability.

USE OF CARD: Any of your friends, family and business associates with your permission can play on your card whether you are there or not. For example 4 people could play on your card at the same time which would count as 4 rounds. Use of the resident card must include at least one member of a resident household.

PLAY BY THE HOLE: Not enough time to play 18 holes no problem. You can play as little as 1 hole up to the full 18 holes or any number in between and your Brunello Advantage Card will be charged "by the hole". For example the bronze card has 5 rounds which are equal to 90 holes and the card will be charged by the holes that are used.

RAIN POLICY: If it is raining at your tee time you may choose to cancel for a full refund or may if you wish play some holes and we will only charge you for the holes you play. If you start playing when there is no rain and it starts raining while you are playing you can choose to stop at any time and we will only charge you for the holes you play.

CART USAGE: Carts will be permitted on the fairways in virtually all weather conditions. All carts have GPS to the flag measurements. Golfers are responsible for damages to cart. GPS power cart included in all pricing. Individual carts are available for an additional fee of \$25.

PRACTICE FACILITY: You and your guests have access to the practice facility prior to your round on the days you are playing.

SATISFACTION GUARANTEE: We believe the Links at Brunello will exceed your expectations. If once you play the course and you are not satisfied just let us know and we will refund all the future rounds on your card.

GENERAL RESTRICTIONS: Use of the Brunello Advantage Card is subject to the general guidelines of play by the Links at Brunello which may be adjusted from time to time. In the event of failure to comply The Links at Brunello at its sole discretion may terminate the Brunello Advantage Card and refund any unused rounds. The Advantage Card ownership is non-transferable and any rounds not used expire at the end of each season.

EVERY DAY IS A PLAY DAY! We want to ensure every day is a play day for our cardholders, so large tournaments and groups will only be permitted on weekdays ... and yes even on these days we will ensure tee times for our Advantage Cardholders.



2024 ADVANTAGE CARD APPLICATION FORM

To apply for a 2024 BRUNELLO ADVANTAGE CARD please complete the following application and forward it to us as indicated by mail or email. Only one credit cart to be used for payment of a Brunello Advantage Card. For questions, please contact Chris Carlaw, Director of Golf at

CCARLAW@THELINKSATBRUNE			
New card holder Renew	ral – Card type:	Referral – Referred by:	FULL NAME
Γitle: Mr. Ms. Mrs.	Dr. Other	Applicant Name:	
Mailing Address:			
City	Province _	Postal Co	de
Work Phone: ()		Home Phone: ()	
Cell: ()		Email:	
Please check one Advantage Ca	rd – HST extra:		
FULL WEEK BRUNELLO RESIDENT	:: Bronze \$520 Silver \$940 Gold \$1620	Platinum \$2280 Super Platinum \$284	O Super Platinum Plus \$3300
FULL WEEK RESIDENT FLEX:	☐ Bronze \$455 ☐ Silver \$810 ☐ Gold \$1520	Platinum \$2130 Super Platinum \$264	Super Platinum Plus \$3050
FULL WEEK NON RESIDENT:	☐Bronze*\$615 ☐Silver*\$1160 ☐Gold \$2120	Platinum \$2970 Super Platinum \$384	O Super Platinum Plus \$4600
5 day midweek card:	☐Silver*\$900 ☐ Gold \$1700	Platinum \$2400 Super Platinum \$304	O Super Platinum Plus \$3600
5 day midweek plus card:	☐Bronze*\$500	Platinum \$2550 Super Platinum \$320	O Super Platinum Plus \$3850
7 day full week flex card:	☐Silver*\$860 ☐ Gold \$1640	Platinum \$2280	
5 day midweek flex card:	☐Silver*\$735 ☐ Gold \$1420	Platinum \$1980	
		3 Digit # on backate:	
When purchasing package, a nor	nrefundable deposit of \$45 is due. Balance to be 1	paid by:	
_	me of purchase. Three equal payment option a able upon request. Payments due Jan 1, Feb 1, Mar 24		rch 1 & April 1, 2024.
Please email your form to: INFO	9		10
-	RUNELLO 120 BRUNELLO BLVD TIMBERLEA NS B3T 0.	4	Maria Talanta
* Available only for Nova Scotia	a residents.		
		The second section is a second	
THE STREET	in what is the state of the sta		
E Williams			